E Problem-Solving |

¥} Ann had 6 dinosaurs ond she was given & more. How many does she

have altogether?
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¥] Granny gave Tom
I5 cent and on the
way home he lost
5 cent. How much

does he have now?

C

E Jean bought a comic
for 10 cent and a

packet of crisps for
10 cent. How much
did she spend? C

A bus ride costs 10 cent.

How much will it cost

for 2 children?

C

€

do | need to make a full set?

E There are 10 football cards in a
set, | have k. How many more

2] Helen has & dolls.
Anita has 10 dolls.

How many more
dolls has Anita?

Michael has 9 cars in his
collection. Ann has 12 in her

cars has Michael?

collection. How many fewer

{? Puzzle: Find 8 differences. X them. Colour the second picture.
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